2 g §F M XK
IR R 202584818 ~ 202584868
= 2 — /S — % &8 A O % & BB TS FITL
£ 3EHMRE SBARML TFRRME 1 ML 3BEHHR 3&EHFAME 3BEHHRE SBARML 1 FHAME
1 FHEXE 1 BEXE 1 FEBEXE
HARS EF M |HBENE| & A |GBEEOE| & M | BBENE| & A | SBEEOE| € M | GEEnE| & A | GBEEOE| €& M | GEEnE| & A | mBEE0E| £ M | GBEEDE
1718]| 0225 0.225 0.225 0.225 - - - - - - - - - -
2HA| 0225 0.225 0.225 0.225 - - - - - - - - - -
378| 0225 0.225 0.225 0.225 - - - - - - - - - -
618| 0225 0.225 0.225 0.225 0.225 0.225 - - - - - -
14 | 0250| +0025| 0250| +0.025| 0250| +0.025| 0250 +0.025| 0250| +0.025| 0250, +0.025| 0250 +0.025| 0.250| +0.025| 0250| +0.025
2% | 0250 0.250 0.250 0.250 0.250 0.250 0.250 0.250 0.250
34 | 0350 0.350 0.350 0.350 0.350 0.350 0.350 0.350 0.350
4% | 0350 0.350 0.350 0.350 0.350 0.350 - - - - - -
54 | 0400 0.400 0.400 0.400 0.400 0.400 - - - - - -
74 | 0450 0.450 0.450 0.450 - - - - - - - - - -
104%| 0500 0.500 0.500 0.500 - - - - - - - - - -
S £ R | mEEn=E HABERE - B EHiITE | & A | ®BeoE TEiTE & N | EBEoE
LRI - BEIFE - CEEITE 0.200 1FMUE 2F XK 0.250| +0.025 1 OBBXxm@m| 0.200
HEZHNITE 0.200 DEM I SEMT 0.250 1 0BMME| 0200
MRS RET & 0.200 30HMME|l 0200
BEETE 0.200 = piA sy & R | mBEnE 100BAME|[ 0200
BUES TS - _go |[1EME2FRT | 0250| 0025 300AMBE| 0200
THIES OJ8&K7% 0.250, +0.025 2ENEIFEMT | 0250
T 3FEMULE 0.350 e |1EME2ERE | 0250| +0025
FEHETS  1EOFE | 0225 2EMEIEMT | 0250 (SEEESR)
/) 1EMY 0225 g |1 FME2FFRE | 0250| 0025 EESGNEA 0.750% R7.1.27~
DEM F 3EMT 0250 W X T 7 0.500% R7127~
= 7 S5 2.350% R7.3.12~
HJIJA KBTS 2.375% R7.3.3~




